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1. Label the array. Then, fill in the blanks to make true number sentences.

N
=
|
w

I

A A
> DD

AAA -

>>>>>‘

A A A (15+3)=5
A A A _
AND o — NN
A AN ANANN
(18+3)=(9+3)+(9+3) (21+3)=(15+3)+ (6 +3)
=_3 + =_5 +
= 6 =__
C. 24+4=____ d. 36+4=__
A A A A
NV AAAA
A A A A
AAAA PV — A A A A PT—
AAAA AALAALA
VANWANWANYAN
AAAA AANA
AAAA (4+4)=___ A A A A (16+4)=__
VANWANWANYAN
(24+4)=(20+4)+(___+4)
) . (36+4)=(_+4)+(__=+4)

(cc) BY_.NC-SA This work is licensed under a
2014 Common Core, Inc. Some rights reserved. commoncore.org Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.




2. Match equal expressions.

al‘ -
(20+2)+(8+2)

d'{, -
(20+2) +(6+2)

(30+3)+(3+3) (30+3)+(6+3)

3. Alex draws the array below to find the answer to 35 + 5. Explain Alex’s strategy.
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Answer Key

1. a. 6;3;3

b. 7;2;2,7

c. 6;51,45 /1,6

d. 9;5,4;20,16,5,4,9

2.  First white board matched to fourth clipboard; second white board matched to first clipboard; third
white board matched to third clipboard; fourth white board matched to second clipboard

3. 35+ 5 broken into two smaller facts: 20 + 5 and 15 +5; sum of two smaller facts found to answer

larger fact
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